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gararar & ford ﬁa’w L Instructions for the candidates :

1 giereff OMR F97-99% UT 3GAT 1, Candidate must enter his / her
7y GieT®T #0iF (10 3 )  Question Booklet Serial - No.

Ty ford | (10 Digits) in the OMR Answer
Sheet.
2. GaErEl FargyE 94 vl § g 2. Candidates are required to give
I/ their answers in their own words
as far as practicable.
3 AT 3 @@ W fd gu 3f% 3. Figures in the right hand margin
quifer e & 81 indicate full marks.

4. Jo F eIAgEF UgH & [0 4. 15 minutes of extra time have
el @ 15 fAe @ ad%fﬁ?n’ been allotted for the candidates to

T gy T & . read the questions carefully.
5. 78 wv i §F @vel 4 & — 5 This question booklet is divided
Qug-3f Uq @Us-d/ into two sections — Section-A
and Section-B.
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6. @Ug-3 H 70 A% w7 § 6.
5 @ f=t 35 wvat &1 Fw¢
g7 afyard &1 35 vv @ sifis
FT I 37 W FYq 35 F7 &
i g1 AE & o 1 o
frffter &1 %1 IR 33 & fou
39ciey FIE T OMR IoN-93% 4§
e 7o et feeg & e / @16
T 97 § g F1 fEEt s
WS & WIeAT / ave ugref /
&g / AGT AT FT OMR Fev-
gAE ° QT &eEr 7Ar 8, s
oetaT giomT sraT=r gl

7. @Y - § ¥ 20 #7g IANT 9T 7.
& 1 99F & fow 2 s FrfRa &
79 & =t 10 g9 &1 Iav
N Afard & | FF foRw g
Gvg 4 6 N FeiT gvT *q ma
g g% & forg 5 3w [yiRka &,
fod & fgt 3 a9t &r 377 37
Sifrard &1

8. 4l 9 & soiagiie IYFIT F 8.
3T gofaar afaa & 1

In Section-A, there are
70 objective type questions, out
of which any 35 questions are
to be answered. If more than
35 questions are answered, thep
only first 35 will be evaluated,
Each question carries 1 mark
For answering these darken the
circle with blue / black ball pen
against the correct option on OMR
Answer Sheet provided to Yyou.
Do not use whitener / liquid /
blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be treated invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which
any 10 gquestions are to be
answered. Apart from these,
there are 6 Ilong answer
type questions, each -carrying
S marks, out of which any
3 questions are to  be
answered.

Use of any electronic appliances is
strictly prohibited.
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qug - A / SECTION - A

TS U / Objective Type Questions

gvT G 18 70 a% & Ul gyA & @ry 9w faweq {7y T i ﬁﬁm‘f';ri’
Wm??‘lam#mgﬁwwﬁﬁmwomnvﬁzwﬁf?ﬂﬂﬁfﬁﬁﬁ
35 97vA &7 3T F1 35 x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct

You have to mark your selected option, on the OMR-Sheel. Answer any

35 questions. 35x1=35
1. 20cmqﬁm§ﬁ%mﬁﬁmﬁ1ﬁ

(A) - 10 SHEIEX (B) + 10 ST

(C) -53TAX (D) + 5 TAI

The power of a convex lens of focal length 20 cm is
(A) - 10 dioptre - . (B) + 10 dioptre
(C) -5 dioptre o (D)  +5 dioptre
2. quﬁahﬁmqﬁaﬁawqﬁ%aaﬁsmmaﬁaﬁ%
(A) HA QA A (B) i1 & Hrd A
(C) THAFAGH (D) SEFIAGH

The total internal refraction of light is not possible when light is

refracted from
(A) glass into water (B) water into glass

(C) water into air (D)  glass into air
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3. TueH ERT eI Y [ O g @ feat deeTdl €

A) SR @) e
(& ui-fagigor (D) foeram
The .process of splitting of light into seven polours through prism g
called
(A)  Reflection (B) Refraction
\W Dispersion . (D) Dit'fractionl _
4 ) s Hiet &1 & FwRer ' |
(A) W W WEST (B) TR W TTeE -
(C) SR I Hehiviq (D)  WehTeT 1 aui-fedquy

Blue colour of sky is due to

(A) - Reflection of light (B) Refraction of light

Mca_ttering of light (D) Dispersion of light

5. ﬁmﬁﬁﬂw-ﬁqﬁmmaﬁmmwmmﬁ% ?

(a)  foae (B) &
(C) AT (D) T S W
Which of the following phenémena of light supports its quantum
nature ?
(A) Diffraction (B) Polarisation
(C) Interference | \9/ Photoelectric et:fect
(117 ] A 88-013
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6.

(9

‘qﬁ%ﬂ}@@ﬁiﬁahwmﬁmaﬁﬁmhmmﬁrMaimw
favwa gim

(A) I3 (B) YIS U GHEY
(€)  ETHE gd ryHEy (D)  HUIEHS a9l GHET

If a hollow spherical conductor is charged with ﬁositive charge, the
potential inside it will be

\y Zero : (B)  Positive and uniform

(C) Positive and non-uniform (D) Negative and uniform

@ﬁﬁ'@%%-ﬁﬁﬁwﬁaﬁaﬁwﬁwwaﬁmmm

(A) IE (B) 3=

(C) YATHsh (D) FOMcHS

The algebraic sum of electric current meeting at a point in open

electric circuit will be

r’"’( Zero ' (B) Infinity
(C)

Positive (D) Negative

Argae & fewt smaferd wu1 @1 sadE T ad HeeH T vara

(A) T«V B) T«V?

1 1

C To— D Tox——

(C) < | (D) 3

If Tis time period and V is maximum speed of a charged particle in

' t . ' . . ' 3 4
cyclotron, then’ /‘ . t .

: N

(A) ToV (B) TV~

1

[117 ] A 88-013 \ Page 5 of 32




9.

10.

11.

%ﬁwﬁﬁwﬂamﬁmﬁamma‘r%mm
ST AT (V,, ) FTAE FAW

- e E
e Dy - el
w Ve=mSEe @ VT
—» s —> E
E - e Lt
© V=T o Va=S
-’ .
The drift velocity (V,; ) of {ree electron inside the conductor placed in

=%
an electric field E is given as

L, .2 5 oF
w TS o L%
- -
— -
© V=22 D) Vy==
U 3TQYl S W1 Faly El €
(a) I=a gy @) f= iy
(©) I ARy (D) 3 iRy

The resistance of an ideal ammeter is

(A) high resistance (B) low resistance

(C)  zero resistance (D) infinite resistance
qmﬁwmqﬁaﬁrﬂwm%aﬁwwmﬂ%
(A)  TEA B B fewud

() qmaﬂﬂa#ﬂw@ﬁﬁm (15) TSR AT 10T

The angle between magnetic meridian and geographical meridian is

called
(A) angle of dip
(B) declination

(C) horizontal component of magnetic field

(D)  apparent angle of dip
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,E

- 12.

13.

14.

sze \(B;/4,q

menﬁﬂhR%laﬁsﬂaﬁmmmmﬁmmﬁ*mm
wioRy g

(A) 2R (B) 4R

(© B8R | D)  16R

The resistance of a wire is R. If the diameter of the wire is halved by

st.retch’i)ng it then the resistance of the wire will become

-

(€ 8R | (D) 16R

dufcl & i daem § W R S G ¥ e @ e g,
T*E )

() & | B S

€ TaieR (D) mﬁm

The quantity, which is same for each condenser for parallel grouping

of condensers is

(A) charge (B) energy
ng/ ﬁétcntial difference (D) capacity
e o fafere amaw gt @
A) 18x1079C/kg B) 167x1079C/kg
() 1-8x10'C/kg (D) 667 x10'1'C/kg

The specific charge of electron is

A) 18x1079C/kg \}1/1-67 x 107'°C/kg

€ 18x10!'C/kg (D) 667 x10'1C/kg
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15. %ﬁm@gﬁwrﬁ(&€wﬂ%ﬁﬁqﬁfgﬁu¢3ﬁzﬁﬁmwﬂm
SR N, AT N, B T

(A) N, >N, (B) N,=>N,
1
©)  N=N, (D) N, = A

i rim and
In step-up transformer, the number of turns in primary

secondary coils are N, and N, respectively then

(A)  N;>N, : (B) N,>N,

1
() N,=N, (D) N =——

) Nz
16. ag  Rua 3¢y sy ¥ Freemarett dyol farpa worea &1 A4 &

-1
(A g B) (&)
(C) (4mey) (D) 4rne,
The total electric flux coming out from stationary unit pczsitive charge
in air is )
-
A e : M e )L
A . .
(C) (4ney)! (D) 4ne,

L
- "

17. 64W§%ﬁaﬁmaﬁuﬁmsw%,ﬁwqa€_wﬁsa?ﬁ%n
o 55 @l wiftar @ et 2

(A) 25pF (B) 4pF
(C) 164 pF ' (D) 20 uF
[117]A - 88-013 Page 8 of 32




R > T

64 identical drops cach of capacity 5 pF. combine to form a big drop.

What is the capacity of the big drop ?

(A) 25 uF

(B) 4uF

S (D) 20 wF

18. mﬁpPHﬁm%FﬂqﬂuﬁaW%tmmmwam
Jfuehas wuifear it @
(A) 3 uF, 12 yF (B) 2uF.12uF
(C) 2 uF, 18 pF . (D) 6WF, 18yF
Three capacitors of capacitance 6 pF each are available. The
maximum and mini:ﬁum capacities which rhgy be obtained by them
are
(A) 3 pF, 12 pF (B) 2pF. 12 pF
(C) 2 WF, 18 yF (D) 6 pF, 18 yF

1o, Freg A @ we-d ol g 89 & gw faefea = e € 2
(a) * 3T Tt () sfer
¢ T feRe (D) & et

Which of the following rays i; not deflected by magnetic field ?
(A) Alpha rays (B) Betarays
(C) Gamma rays (D) .Positive rays
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20, i feell & Uk oI @

(A) 90° (B) 1
C © (D)  180°
The power factor of choke coil is
(A)  90° B 1
uf o (D) 180°
21. «m-wEe g & nfords g7 €
- = ’ - d-} -
2 Ko dlxr o, gixr
()  dB=721—; B) dB=p, —;
(?l — 5 - c?l >
- _ Ho xr : _ xr
(C) dB=_>1I = D) dB=py, —
The mathematical fonnuia of Biot-Savart law is
- Sl R - P
_Ho xr _ xr
(&) dB=-21 = (B) dB=py —
;ﬁ - - a’l o
=2 Ho xr X T
C) dB=-2>1 (D) dB=p
©) 4n 4 o r
22, faber @
A)  FgEHE | B) wag==ig
©) e FEEE D) T | HIF Tl

(117 ] A 88-013
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Nickel is

(A) Paramagnetic \JB/ Diamagnetic

(C) Ferromagnetic D)  Nonc of these

23. QﬁSﬂﬁﬂHﬁﬂ&WWﬁWfiﬂ%cmamﬁu%wﬁa@
AT 15 ¥ 1 o B Beeg g B

(A)  20m B Lm
20

(C) 20 cm (D) L cm
20

The radius of curvature of each surface of a biconvex lens is 20 cm

and the refractive index of the material of lens is 1-5. The focal length

of lens is
1
A 20 B =
(A) m ( ]_ 20m__
(C) 20cm O L em
20

24, mma%wmmfm(aqaﬁqia=g)ﬁqﬁ(méﬁ?ﬁﬁ=i)ﬁ
HEOT HA € | hifcsh HIvT 1 7T

W

(A) sinfl [%] B) sin"'(/879)
(C)  sin™! (-S—J | (D)  sin”! (%]

A ray of light travels from glass ( refractive index = 3 ) into water

(refractive index = % ). The value of critical angle will be

(A)  sin”! (%J , B) sin'(/879)
| -4{7(’3] -s.in'l [-g—) (D) sin”} (%)
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25. YOS ARl & fon fadl fag ® wedaen & RROT % dn

FATaL ar ¢

n
(A) A B 7
(©) o

For constructive interference, the phase difference between two rays |

reaching at a point is

(A)  zero | (B) % |
© x ©) =
26. Qﬁﬁﬁ“ﬂ%ﬂi%sﬁa@-—raﬂrqﬁaﬂw ........... A BRI
@ 3 - ®
(C) dam ' (D) VNG Fe

For same wavelength of electron and photori which will be the same ?
(A) Velocity (B) Energy
\g}{ Momentum (D)' - Angular momentum

27.  Z U] HHIE A wE] ARl & o e d e 9 s
EAT gt ®

A  z2% B 2z
© z'% D z7?%%
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For any atom of atomic number Z, thc'energy. of electron i_n any given
orbit is proportional to
@ z° B) Z
o o) 27
28. pWR%amiamﬁéﬂmaﬂf@aa%wﬁmmmF
(A) R B) o™

© hHw (D)  HIERRA

The impurity element used for p—type semiconductors is

( Boron B) Bis muth

(C)  Arsenic ﬁ Phosphorus

20, A et fo A e B % S wAqed e e

3UF
=1 4uF
Ae—0u0 | ——”—cB
il
2UF
(A) 9uF (B) 1uF
20 | . i
(C) "§'PF (D) = uF

The equivalerit capacity between A and B in the figure given below

will be
3HF
1k 4 UF

Ae—— . : | |—eB

11 *
2HF

(A) 9 uF (B) 1 uF

20 ‘ 1
b —uF D =
(C) 9!4 (D) gpF

11171 A | 88-013 | Page 13 of 32



30. A % gfe S ugn g 2
(A) WG & feu
B) feuigavr & fom
©€) s F fou
(D) WA e fenirgeier 2l & foro
Modem is a device used for
(A) modulation
(B) demodulation
(C) rectification
(D)  both modulation and demodt.lation

31.  + 10 uC @ - 10 uC & 3 fag N1 a1 H TR 40 cm H T |
@ ¢ e & g Raferst sttt 2
(A) 225 (B) 2359
(C) — 2-25 31 (D) -2-359c
Two point charges of + 10 uC and - 10 puC are placed at a distance
of 40 cm in air. What will be the electric potential energy of the
system ? '
(A) 2-25 joule (B) 2:35 joule
(C) -2:25joule ' (D)  -2:35 joule

32. oA fyya #t Freftr Rafa of foea fave @ @
©) 4‘.'[160 % - T
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Th 1 » 3 . . a e
c electnc potential in cquu[urm] pngluun 0[ an cleetrice (Iipulc is

) Ll pcoso
4nr €5 r‘z'! )
(C) L
4n EO r

B £

anc, p?

(D) zero

33. 6owm4ow%ﬁmuﬁ:ﬂ}ﬂﬂﬁqﬁﬁéaﬁa}muﬁﬁmwﬁﬁ

gt
(A) 100w
) 30W

(B) 2400 W

(D) 24W

When two bulbs of power 60 W and 40 W are connected in series,
. S \ O

1

then the power of their co

(A) 100W
(

© 30w
34. IRfor wioaa elar &

(A) X, =2nfL

() X, =2nfL?
'Ind'uctive reactance is

(A) X, =2nfL

€ X, =2n/°

- :________..-—-—'""-'

mbination will be
U—‘——_"--—_-ﬁ

(B) 2400 W

i Mw

(B) x;_ =2nf2L

(D) X, =2rf?L?

B) X, =2nf’L

(D) X, =2rf2L?

[117] A
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35. UH R H 1A uW vyaikd & @ B uﬁsﬁﬂ‘m F g |
16 x 107" C &, @ ufa Az ar F yarted ge@gEl o T ¥

18 |
(A)  0625x 10'3 B) 6-25x 10

19
(€) 16x10°'° (D) 1-6x 10

The current following in a wire is 1A. If the charge of an electron ¢ 1

16 x 10719¢, then the number of electrons flowing through the wirc ‘
per second is .

(A)  0:625x 1013 B) © 625x 10'8
€ 16x107!° (D) 16x10'°

36. Wmsﬁ@ﬂ(m)maﬂqﬁmﬁwwmww-
ST (T ) T HE gy 2

A ' : A

(A). T=mxB : (B) T=Bxm
, e

—+_m ¥ —kouech

(C) g = (D) Tt=m-B

B ‘ '

The torque (t) experienced by a current loop of magnetic moment

{ m] placed in magnet:c field B is

(A) ?::_n’xﬁ B  ©sBun
©) ?=-’E- D) *=m.B
- B
37. ITgrIE W @l waha &
() fer B I
(C)  3q (D) =T &5 W fasfk
[117]A 88-013 Page 16 of 32




The susceptibility of paramagnetic substance
(A) is constant (B) is zero

(C)  is infinity (D)  depends on magnetic field

38. Al F w1 w1 fagia smaia ¥ .
A) YNIFFHIUME W (B) (agd-grEesd WO T
© SRa gEwE w . (D) e fagE w
The working of dynamo is based on the principle Iof
(A)  heating effect of current
(B) ele c&o-magnetic 'induction
(C) induced magnetism

(D) induced electricity

39. L-RURay & vifw 7oiiss gia &

(A) R +wL - (B)
. J}ez +w212
€ RyRZ+w?® (D) %
The power factor of L-R circuit is -
R
(A) R\+ wL &/ ———m
C) RyRZ+w?I? (D) —“;—L

40, yeEdt yrr aftay # o Owr 7 Ud SR v F o Befiek ¢ &) at ¥
&1 AIZEH °UITH e

(A)  Icos¢ ' (B) Itand

(C)  Isin | (D) Icos? ¢

[ 117 ] A 88-013 Page 17 of 32




In an alternating current circuit, the phase difference betw,,,
current [ and voltage Vis ¢, then the wattless component of curren,

will be
(A) Icos¢ (B) Itan¢

‘9/ Ising | (D)  Icos?¢
41. P & T & B, § A fedt gEers g8 # o A @), @

(A)  n«Bp (B n?«xBy
(C) ne«B,? | (D) nzacﬁ_

H

In earth's magnetic field By, , if the frequency of any magnetic needle

is n, then _
(A} nxBy . N4 n‘« B,

- 2,1
(€C) n«B, D) n “B

42. Y@ & FEHF YT T T HIOT H AT G E
A) 0 (B) 45°
(C) 90° | (D) 180°
The value of angle of dip at the earth's magnetic pole is

(4) 0° (B) 45°
/w (D) 180°
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43. U ITA AF (n=1:5) B UFA (0= 133 ) T garwm A&, A= 0w

ERR HLAT &
(A) 3T S Y W@ (B)  3MEqel ¢4 @l WE
© B =t @ (D) 37T UUT HY AE

A convex lens ( n = 1:5 ) is immersed in water ( n = 1-33 ). It will

behave as a

(A) convex lens (B) concave lens

(C)  prism (D)  concave mirror
a4, Pt & freer sadis wad e de ¥ 2

(A) ™ (B) Ul

() @ (D) &R

Which one of the following has maximum refractive index ?

(A)  Glass (B) Water

(C) Iron ' ;P)/Diamond

3 & fE W H QW A & 60 FEAHER o H FAeR o
AT & ?

(a) free gfee < B) 3 gfe QN
(©)  fagehdr (D) g qw

Cylindrical lenses are used to correct the eye defect called

'.J

(A) M yo_m). : : M-Iypermetropia

(D) Presbyopia

B s it

45.

(C)  Astigmatism
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46, G W & 1 61 D0 e
(A) 39 TR
(©) T el

The colour of visible light is due to its

(A wavelength

(C) phase

(B)

(D)

(B)

(D)

FqehT AT

velocity

amplitudC

47, el e A @ TR g W T A E

(A) @R

(©) FHao

(B)

(D)

SeHATER
CRICAN

e

The wavefront due to a point source at a finite distance from the

source is
(A) ‘spherical (B)
(C) plane (D)
48. T & THW H WeH Bar ¥
(A) e WA (B)
(C) el Y@r %1 WA (D)
The solar spectrum is
(A) cantinuous spe-(ﬁn (B)

(C)  spectrum of black lines (D)

-cylindrical

circular

e wwen

WAl T3 & Ty

linear Specirum

Spectrum of black band
— Q—-——

L)

[117]A

88-013
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49.

fote wm o Tt ¥t ofaea werd &) wfer a1qd wrifusr wfomor @ sl
& e 8, 39 wheq ¥

(A) A 3 | (B) ¥E-31

(C)  3TdH D) & Fgdie

The time during which radioactive substance becomes half of its

initial amount is called

(A)  Average life - (B)  Half-life
(C) Time-ﬁeriod (D) Decay-constant
A A s R
(A) G § @ wead
(C) uiafad war g (D) ¥ &l %
With the increase of témperature the s-;peciﬁc resistance of semi-
conductor - |
(.l.\) increases \P}/ decreases
(C) remains constant (D) becomes zero
51. gt & frdl ©H W UH TV UN0T TER W FAE 245 m € fRA
afiehan g % 9 TR 1 FEROT G 2
(A)  245m " (B) 245km
| (C) 56 km ' (D) 112km
| "‘[ 117 ] A . 88-013 Page 21 of 32




The height of a TV transmissjon tower at a certain place on the Carth

18 245 m. The maximum distance up to which its transmission can
be received is

(A)  245m (B) 245 km
(C)) 56 km (D) 112 km
52. %ﬁ@wwﬁaamﬁmmﬁﬁafﬂ@w F 23 81 3z
g & g0 e wE W forega ser &1 w &
(A) 4F (B) 2F
1 1
—~F = F
(C) 3 (D) 5
Electric force between two charged particles situated at any distance
is F newton. If the distance between two becomes half, then the value
of electric force will be
(A)  4F B) 2F
1 1
—F D —~F
~ (C) p (D) >
53. o3 & Ry 197 91 anyr
8A
20 A .
4 A l6A I
8 A
(A) 8A B) 10A
(C) 12A (D) 14 A
" The value of current | in the figure is
8 A
20 A
4A 16 A i
8 A
(A)  8A (B) 10A
(C) 12 A (D) 14 A
[117 ] A [ 88-013 |

Page 22 of 32




54.

3S5.

56.

aE‘*““"(25w.22{)vwﬁm(l'()(;aw,zzc)wfarznrwr%l's:rﬁhr?r&mm
iy Sy gvy

(A) 25w (B) 100w

(C) I W TR gy D) T QA FE 77

Tw
o bulbs (25 W, 229 v ) and ( 100 W, 220 V) are given. Which has
higher resistance ?

(A) 25w
(B). 100w

(C) Both have equal resistance

(D) None of these

¥ w1 foregd e st mmr o &
(A) dteeHER gRY B) NeaAmR g
(©) = e g D) Favemmdt gw

The e.m.f. of a cell is measured by

‘(&)  a voltineter (B)  a galvanometer
(C)  an ammeter (D)  a potentiometer
YT & G el &

@ o . B

© 1 D) -1

%[ 117 A 88-013 | Page 23 of 32
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The dielectric constant of metal is

(A) O (B =
Q) 1 (D) -1
57. ity FoN B AR w9 § agenae 45 # Fed &
(A)  IROT HEe @) sEAA
(C) TEEER (D) HX
Instrument which converts mechanical ene;'gy into electrical energy
is called |
(A)  Induction coil (B) Dynamo
(C) Transformer (D) Motor

58. T &N frdlt o Y 3w ¥, o Yo Sy e wfet avar &

(A)  TR<foe T W (B TR w3

(C) Heai-h & dhr (D) WU Td 3ol

When we see an objeét the image of the ‘object formed on the retina is
. (A) real and erect (B) real and inverted -

(C)  virtual and erect (D)  virtual and inverted

59'.' ferett safaeor & guiag gar @

(A) (n+1)A (B) (2n+1)A
A | (n+1),
€ (2n+yk o)
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0.

61.

62.

The path-difference in destructive interference is cqual to

(A) (n+1)a (B3) (2001 1)2

©  (2nen? oy {n+1)

e )\-
FARH-AE (v ) T1ar &

(A)  HI (B) 319

) Tavaiar (D)  Fel
Electron—voﬁ (eV ) measures

(A)  current (B)  charge

(C)  potential difference (D)  energy
eI W # Pl doft qra v v ¥ 2
(A)  EHT Uit B) FFHe SR
(C)  ©mgHA St | (D)  9IvET Hoit

Which spectral line of hydrogen spectrum lies in visible region ?

(A) Balmér series (B) Brackett series

(C)  Lyman series (D)  Paschen series
ffeafa § fhget Su=-a9ar qeam gt & 2

(A) TS feheui (B)  Furg feamvol

(C) I feapgui - D) e et

Sulh117]A 88-013 |
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Which of the following has maximum pcnctraling power ?

(A) X-rays (B) Cathode rays
(C) a-rays (D) v-rays

63. W“Wﬁmﬁﬁ&ﬁ&wwqﬁrsom?, i forter s @
(A) SO Hz (8y 100 Hz
(C) 25Hz - (D) 200 Hz

In full wave rectification, if input frequency is 50 Hz, then outpui

frequency is

(A) SOHz (8) 100 Hz

(C) 25Hz a (D) 200 Hz
64. ﬁﬁﬁﬂhﬁﬁﬂﬂﬁqﬁm@iﬂﬁﬁ'ﬁ?ﬁmt ?

W e ® =B

(C) I H . D) A

Which of the following is not accelerated by electric field ?

(A) Proton (B) Neutron

(C) a -particle (D)  Electron

65. &-ﬁﬁma@ﬁﬁmﬁm

(A) 100 MHz q afus (B)  0MHz § &
(©) 10°MHz ¥ (D) 1500 kHz q 1
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Frequency range for ground waves should be

(A) more than 100 MHz (B) less than O MHz

less than 1500 kHz

(C)  more than 10°MHz (D)

oo A e o e o s a3 st e
A) TGt @ (B) wedl @
© T e ¥ (D) ¥ & S §

On increasing the length of the tube of compound microscope,

magnifying power

(A) increases (B) decreases

(C) does not change (D) becomes zero

67. Wﬁmﬁﬁﬂﬁaﬁ(LgymWﬁaé(Lm)ﬁﬁﬁﬂﬁW%

- _6
A L, 'ELQ B L, =5 g
(C) L,=1L, (D) L,=2 Lg
The relation between geometrical length (Lg) and magnetic
length (L, ) of a magnet is

_S i)
(A) Lm—ﬁLg (B) Lm-ng
(C) L, = Lg (D) Lm=2Lg
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68.  Uga whmaar &1 s @

(A)  MeV (B) am.u
© =g o) T

The unit of radioactivity is

(A)  MeVv (B) am.u
(C) curie | (D) joule

69.  TIHIVT S T A R
(A) HEeT H (B) mﬁ
© s D) wen

Attenuation is measured in

(A)  decibel (B symon
(C) ohm (D) tesla

70. Y[ HoaT W ALTF ATER FIET &
(A) ﬂ%‘m E o) (B) HIWIH HG
©) FUOs I | (D) T | HE T

At O kelvin, the semiconductor behaves like

(A) - asemiconductor (B) agood conductor
(C) a bad conductor (D)  none of these
[117 ] A 88-013 Page 28 of 32




[{uy - ¥ / SECTION - B

oY IAT UYA / Short Answer Type Questions

vvT §Ear 1 8 20 7 gty & 1 T 10 wvAt & gav & 1 wRd @ o

2 3w fFreRa & :

10 x 2 = 20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each

Q!“

2.
N
4

Guestion carries 2 marks . 10 x2 =20
R e ofiweror w g ) 4
What is cieCtrbstatic shiclding ?
e I AR T ¥ 2 W S AEE o 1+]1
What is resistivity of conductor ? Write down its SI unit.
wIs TN ¥ 319 F97 wHed ¥ 2 2
What do you mean by power factor ? _
hilcieh 10T T Soaeies & die Hay ford | 2

4.

Write down the relationship between critical angle and refractive

index.
i gared & & uil -t ferd | : 1+1

Write two properties of diamagnetic substance.

qul faeiqor ermar @ 319 F= e € 2 2
What do you mean by dispersive power ? '
T & iAo &t HEvES I T E 2 - ' 2

What are the necessary conditions for interference of light ?

?/dmmé?mwmn%ﬁt L+1

What is polaroid ? Write its-one application.
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\/ gaa a0 @ R

What are microwaves ?

\/ AT & W e @ fan ferd

Write Fleming's left hand rule.
11 fovpa grastg i wn @ 2
What is electromagnetic wave ?

12 SRS R 2

What is Lorentz force ?

13. vt uRY afgy # sfqarr o sfqae s E 2 1+ 1
What are impedance and reactance in alternating current circuit ?
14, wrfash oo ficdias dgue & s we &t 2

I

Differentiate between primary and secondary rainbows.

15. @T%ﬁqﬁaammmﬁuﬁﬁszxm* uﬁraﬂ%|waﬁm
Y 4T E 2 ,. 2

The decay constant of a radioactive substance is 52 x 10> per year.
Determine its half-life.

16. U7 3R Wi & It F1 & 7 TR TF WA I9EhT A ] .

What are the conditions for total internal reflection ? Write any one oé
its practical applications.

17.  He¥ 4RI 1 € ? | | 2
What are eddy currents ?

18. Al feid | forelt mrem A qof siiafte weds & fou shifaes s 300 &)

a1 39 "R H YR I 91 1 a2 >

If the critical angle of total internal reflection from vacuum to any|
medium is 30°, what will be the value of speed of light in lhb
medium ? '

S
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1o, A SR &1 @i s G 20 v T T SA # HRT O

gt & Wiy #9910 ¢ wd 8 o gl, df dRm ferdiv o mrr 3 &

2
The current flowing through the parallel combination of threc

resistances connected to 20 V supply is 5A. If the resistance of two

are 10 Q and 8 Q, then find the value of third resistance.

20. S i WA FRT ¥ AT F1 G ¥ ) 2

What do you mean by Bohr's stable orbit ?

i W wew / Long Answer Type _Questiﬁns

.mﬁwézﬁzsﬁém'miiﬁﬁ?aﬁérmé‘ ! T @

forw 5 o fraffa & : 3x5=15
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any
3 questions. Each question carries 5 marks : 3x5=15
21. TG W AT Tl aun wefie w1 2+3

State and prove Gauss's theorem.

22, e e et @ & 2 ) e Bl a7 o v 9 )
&I U B 2+3

What is deviation without dispersion ? Obtain the conditions of

deviation without dispersion by two thin prisms.

\2‘/3( e gramrg RO @ gt S & Fram @t s w0 5

Explain Faraday's law of electromagnetic induction.
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24,

28.

26.

s from & fofu feamn fa sadate | fon a2

. [A+dm
smL

EC)

Show for a prism that the refractive index y is given by

sin( A +'8mJ .
2

p= , Where symbols have their usual meaning.
: A) |
sxn(

] ﬁ%’laﬁ»—cﬁéamm SORY

)

Wﬂ%ﬁwwmﬁmwm%mmw

HK| 5

Find out the expression for magnetic field due to a bar magnet in
broad side-on position.

ﬁﬁf%ﬁwﬁﬁa@lﬁ@qﬁ-ﬁﬁamﬁmwusﬂwﬁqmﬁ

e wfer § s

State Lenz's law. Show that Lcnz s law is a direct consequence of law
of conservation of energy.



